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1.« Resuelve aplicando la férmula.

2)x?-10x+21=0 b)x?+2¢-3=0

x?+9x+40=0 )5+ + 14x-3=

O 15x2-16x+4=0 £) 1422+ 5x-1=0

@x2-10x+25=0 h)9x2 +6x+1=0

i) 6x2-5x+2=0 j)6x2-x-5=0

2)x= lﬂi.*lzl)DfM S x=Tix=3 b)x= 722‘;4r|2 Soxolx

Qe ZEBLZIO L, Gin olucion.  dyn 2660
_ 16256 - 240 2 .2 _5£425456

Q= Sxedixol o220

Dx= 10+ 100 - 100 S %= x=5 hyx= 6+4/36 - 36

2 18
fyo 248 ?2’43 — Sin solucién. j)x:il’“z1lzu -

12. sl Reduce a la forma general y aplica la férmula.

B)10x2=7x=0 - x=0; x= /=

©) 1052~ 7x+2=0 — Sin solucion. d)x?-6x-16=0 - x=8 x=-2




